¢ = B W FAE A 25,3l

* = T
7‘;1’,* = %_ykjgg_ﬂ, =u-RAGA . 6”3?4 ﬁ\%)
Wt - BE4AAR R EAHaE Bhwe KIHA | 7

f M + 02, + -+ Ainn = by L> B BB4E

a-‘_lz( +ﬁ‘gl,_+ AR a-,,n'Zq . LQ_ (*)

-—- o e

_ B 4 + 022y + -+ Qunln = L’m

&g ($et3Y 1t 3T y6) FH
bi - (B L4 39Ek) Sy

2 biz-cbazo, B OHTREUIEE 20| &2 4
Ak FoRE M 398 4
2 %6, 16 R o) §X A A\ A (6 a)
H o f - A

AL = HAK Wik £

HEW , ZHEHT.

LN P S44 e

,,%4 T';),BQQ : -
) AN, vR-% ﬂ’ﬁ‘kﬁ:%‘
) AR Gasss. i

) ARER @



831 Gauss VK 3 #

CETE X!
F3 4+ - =6 O
{ X, + 3% + = ® (_,,:)

L -3 =3 ©
éA_ ,-‘X.\+37C,_+’2)(3=‘1 @

¥) 2 -3 =3 ®
L3+ -2 =6 @

Xy + 3G+t 9 @

= -t% - 4 =-I8
L -1 -2 @

F X 3NN ] @
X - X =18
6% = -6 @

Xs = |
> % o= 2 Hoow 0%
I



AL % =A% 40 & 4 1,
1) 4R B 448
RESECTREEE 2T (2)

6) MMLR-E Y07 3-438F 200 >0)

g

(2) &3)

%J: r x|+212+313 +4_x4 - _3 [l)
A4+ 2, ~Sxy = | @)
* ey =/ 3)
24+ 4%, - 3% 19 24
L 34 + L, -3 — 2%y = )
1) 3 (2 WERRAIG hhy = -3 ()
-L(1)-> 3) —3% -FX = & 6)
30 6 7 9%y -%ue = 12 @)
2%y -y = |4 G)
HAB 3G 4y, = -3
’4(4)'5(,?) 0 = 0O

o = 0



X{ :'l-'z'tl "'St)_

—_— z —

3 _é-stz.
A = Lo
[ ¥{-X+x=1 o)

f e -11‘13‘-‘3 @)

| 22| -3x,- %, =3 B)

{Z\"'ll
L

-10) @)
21N W)

3
- 35 3(6)

> ot !

%*’ k0,1 € F .
+ % = | @)
2%y = 2 )
_323 = ‘ |§)
+Zb = |
—)_;(5 = 22
o = 2 Y

Afd Sd34 - BtARIAE AXARGE
FIL: = M %R A A b W d o RS AL

®



812 Gawss B A2 EA
14 AR e Rkt 4)

s ) A H £

My O --- Gn Ly
a;‘ R‘AL = al'\ b‘

- -

ﬂ*;\ Bwe - G bm — )RR

i%x%g;mi S Fa AR kvt SR

18] (G W3 0 238 3.

324 6 fion (1 32T \ L0 ) 3 3
lé: 1 3 2 9 «-—>(z-|§})-—~>(0_7_\-($)

2 33 fz.@(} 3L A ‘ =359 0 <] 9 -y
)3 2 ¥ :
“hon 2 132 han (L3 o T
> o) - -6 —>(o—7—l—6 —>(p.7o-/¢
o 0 -t -f o0 | 1/ TN Loy
s | 3y o F\73RS [ | 0o o | u= |
- 0 | 0o 2 - o | o2 '-? AL = 2



/Izj‘ *% L4+ + 4t % + X5 =o
3% + 2w, +% +Xg -3 =0
Z)_ +Zz,3+)1¢_+lx{_‘-/b

§ +4x, +38 +3% -% =

% Iy oy oy ) o)

: 3321 13 0 -l 2 -6 ° 1234

( 11253%(0|zz€ = oo‘;o.o
5 43 3+

0 4 L -y

L, = %
xl(- - A
x5 = t3

45&, P 3 2 +525t bx, =2
by - Thtexy +3% = 3
T4 - J+ s+ 1% =

3 LS ¢ 1 3 2 56 v 1L J&e Vv
(6"7"4— B }>g(°‘3'é‘54)9 0 -3 -6 -5 -
3 T =

-l 0 -3 =b S 0 o o ° -4

© O ik.



$33  ~ FH M DA2 U Goue, Wi

£33, f[ UK

W 3 anto D XMKIT, 248K auto

) ALE-HBREE Y Ew )

o Qn - - - 22 b
0 S,? ... azl"‘) “;.)
U w
0 Am Zin] b
L - =3
#2la a? -0, 08 2l V2. e FTREL

AlE S aig
B AAR . AeKk Al 0 L &0 i, g
R 1% = sk ¥ AR Gawe b

& Qa - i, Qg - - An L\
v) o
o o -+ Maf, a}, --- e B
(o] .. @ Q) )
° ° Ayg - - g by
@) ) )
© o - o Omga = A

= S



0¥ O

B~ RRBN
933 RGE M

Z9 33 (NBH AT %

0. xrq*o > ‘T(..ﬂ—
() d"*l ze ¥ v=n > é‘ﬂﬁ.-

B) dr-.1=08"Y<n 9*34

. M &ék

B) r=n3d §. =21 ¥i=n-0n

G Cn Gn 14
$ G Gy da
Can da
[»] (-}
_Z s
$ 21 - Z; ] zﬂ— (4"\

Cin
Cz n
Crye -- Crn
4
0 O



(3) dm_l:o L rY<n
R S
3 { oY+ G =

C,a®+Cr2n dy
e N - e e B

_r,(»}ﬁiﬁ& Thekd
ngqi-ﬂﬁ)%. %-.)'6\’“"%" Vﬁ.-%i
r 4= odyd + - € e For + B

’ ﬁ B =ittt ol o 4 b

Xn = blm'b ot g Fng 4 Co
n =

S Y ﬂtiﬁ'_
Mr "%
) ¥R 2 EAHR (Ble aﬂtﬁ;{,mﬂ.
SERTAZEERY ) fetd te ok Bk
4ikg v< n

3) m<n,%»"ﬁ > i %%%
% A > RAHEARA



242 ~ X Hi=)

4@& .
) + 3%~ b Ity = )\

. 2 4 ) | )
%‘ P2 =4 Ler‘ lzﬂ#zz\rr|z_‘¢"
z 2 4 ) 1 1 ,is 0-%3 33
I 3+ - 0 » |2 ”J\’f'""b 0537
nLon A
> 6 5 3-'7“3)
0 o o 0XF
Ath © NS=0 O A=8
¥ N=8 ¥,

% G vk, ~Xy 4%, =2
_—; S'xl-PSZs—?xq,';"B

_ | ¢ (/2
- 3 ? 3
‘% %t = zh - gt t % 2,4 eF

Z_(P:;(:Q_



